restart

Ecuacion := 2-y(x) - (y'(X) +2) —x-(y'(x))--2=0
2

L d (4 _
Ecuacion := 2 y(x) ( i y(X) +2j X ( I y(x)j =0 2
Solucion := dsolve(Ecuacion)
2
Solucion:=y(x) =0, y(x) = -4 X, y(X) -1 X(-x+2_C1) 2
2 c12 (_ -x+2 C1 +2)
- C1
Solucion;
y(x) =0 ®)
Solucion,
y(x) =-4x 4)
. C, .
SolucionGeneral := subs| C1 = DX S|mpI|fy(Squ0|on3)
) ( -X+ Cl)2
SolucionGeneral :=y(x) = . (5)
1
SolucionParticular, := subs(C1 =1, SolucionGeneraI)
SolucionParticular; :=y(x) = (-x + 1)2 (6)
SolucionParticular, := subs(C1 =-4, SolucionGeneraI)
SolucionParticular, := y(x) = - 411 (-X— 4)2 @)
SolucionSingular, := Solucion,
SolucionSingular, :=y(x) = -4 X (8)
Comprobacion,, := simplify(eval(subs(y(x) = rhs(SolucionGeneral), Ecuacion) ) )
Comprobacion,:=0=0 €)]
Comprobacion; := simplify(eval(subs(y(x) = rhs(SqucionParticuIarl), Ecuacion) ))
Comprobacion; :=0=0 (10)
Comprobacion, := simplify(eval(subs(y(x) = rhs(SqucionParticuIarz), Ecuacion) ))
Comprobacion, :=0=0 (12)
Comprobacion, := simplify(eval(subs(y(x) = rhs(SqucionSinguIarl), Ecuacion) )
Comprobacion; :=0=0 (12)
EcuacionParametrica, = rhs( SolucionParticular, ) = rhs(SolucionGeneral)
2
) o ) ( -X + Cl)
EcuacionParametrica, := (-x+1)"= —c (13)
1
Parametro, := solve(EcuacionParametrical, C1)
Parametro, := 1, X (14)

EcuacionParametrica, := rhs(SqucionParticuIarZ) =rhs(SolucionGeneral)



(-x+Cy)°

EcuacionParametrica, := - i (-X— 4)2 = c,
> Parametro, := solve( EcuacionParametrica,, C, )
Parametro, := -4, _411 X2
=> EcuacionParametrica, := rhs(SqucionSinguIarl) =rhs(SolucionGeneral)
(-x+Cp)°

EcuacionParametrica3 =-4x= C
1

> Parametro, := solve( EcuacionParametrica;, C,)
Parametro; := -X, -X

> restart
> Ecuacion :=y"(x) +9-y(x) =0
2
Ecuacion := (?2 y(x) +9y(x) =0
X
[ Clasificacion = E. D. O. (2) L.c.c. H.

[ > SolucionGeneral := dsolve(Ecuacion)
SolucionGeneral :=y(x) = _C1sin(3x) +_C2cos(3 x)

> plot([rhs(subs(_C1=1, C2=2, SolucionGeneral)), rhs(subs(_ C1=1, C2=2,
SolucionGeneral) ), rhs(subs(_C1 =1, C2 =3, SolucionGeneral)), rhs(subs(_C1 =1,
_C2 =4, SolucionGeneral) ), rhs(subs(_C1 =2, C2 =2, SolucionGeneral)),
rhs(subs(_C1 =2, C2 =3, SolucionGeneral)), rhs(subs(_Cl1=2, C2=4,
SolucionGeneral) ), rhs(subs(_C1 =3, C2 =2, SolucionGeneral))],x=-1..1)
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(20)



>>>>>>>>
_________________




